1

Bn GREEXRED

[Fr 2 3FF1Y)

[ =XFRR ERFBES AL ]

(1) BEED®E

TR O 1 A 3L 5AR

REih5kEE 276,651 [ (Rii4kt 0.8 % &)
EFOTXMGT S5 230,892 ] (A4t 1.0 % &)
FrERNIRS 217,021 M (Fi4EH 1.2 % &)
(2) FERFEOENE
W g o 1 N A 5255 EiRER
HEFEFRE 146.4  ERR (Bi4EEE 1.6 % &)
Pt %€ A 55 {80 B 138.2  Wff (B4 1.5 % &)
Pt %E 4} 77 {81 B R 8.2 WRR (R4t 4.4 % &)
(3) EFHDOEIE
TRAEWIF R B B O H 5 @55k
wEHRTEER 219,871 AN (Hi#Ekt 0.7 % 1)
[ EXfRE BERFEHEIOAUL ]
(1) E€DE=E
A I O 1 N H RBLeR 5458
REih5ikEE 326,130 A (Hi4Ekt 0.9 9% i)
EEOTXHHT S5 264,160 1 | (Hi4ELE 0.1 9% #8)
FTERIEES 246,105 M | (Hi4ELkE 0.1 % &)
(2) FERFEOENE
W A O 1 NS H 557 @R
5@ R 151.5  FRR (R4t 0.3 % H)
Pt %€ A 55 {80 B 141.5 W[ (B4R 0.3 % ®)
T % % 55 0 B 10.0  FRRE] | (Bi4EE 0.2 9% 1¥)
(3) EFHDEIE
TRAEMIR B BAEOF H 5 @55k
ERTBER 116,905 A (R4t 0.2 % )




BE€nBEAIFL) [ FRFEHESALL]

%
15.0
10.0

50 r

0.0 \ | | ‘

A 50 f
A 100 +
A 150

19 20 21 22 23
e BEHEREAEELI) = SFoTKET LIRS AEELID]| &

FEEEOBE @TFL) [ ERFEESALUL ]

20.0 /\
10.0 //\
0.0 / N

%

30.0

I —— ﬁ
A 100 |
A 200 5 /
A 300 -
A 400
19 20 21 22 23
F
—— REFEFHE GAEEXE) = AENFEERGAEERE)
—A— FTE S F @B (RS R)
% EROEE REIFL) [ ERAFHESALL ]
150
100 |
50 |

A (5)2 :‘4: "

T

A 100
A 150

19 20 21 22 23
—— EAERAGAEELH) = pAERAEEY | F




